[ Efficiency vs vertpos |
~ 0.2

20.18F
g o
>‘0.16_—
U -
_50.14_—
O C
£0.12f
0.1
0.08F -+ e

.............................

.............................

.............................

.............................

0.0BF+++eereeiefsgeregioon]

0.04F AT
0.02F

107 1

10 0?
TP vertr (cr%)

Efficiend

—=— DQM_TT__originalREDO100
—e— DQM_TT__originalREDO100f
—— DQM_TT__originalREDO100fb

~ 0.8

o
]

©
o2}
T

o
&)
|

efficiency vs ver
o o
w
I I

©
[N

©
s
I

Ratio
r
T™rr lb

0.95 A
s 0

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~ 0.2
>

D—_O.lS_—
= L
'(7)0.16:—
£0.14F

YR S

S0.2F - Theereeeneens B

o F - -

[} o . .

£ O0d - frrrdee Breee

[©] - . .
0.08F -+ [+ frreeriveeeens e
0.06F [ oo
ooaf - L

002+ o

.....

.............

..................

...................

1.0

Ratio

210 5

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


